ITEM

DESCRIPTION

PART NUMBER

BOLT ON HANGER - LH

W1627-1

BOLT ON HANGER - RH

W1627-2

BEAM W/ BUSHING FOR I-BEAM AXLE

AW1628

W N

PIVOT BOLTKIT 7/8"-9 UNC X 7" LONG

KO928

N I N |-

4a

HHCS, 7/8"-9 UNC X 7" LONG, GRADE 8, YELLOW ZINC

HO126

4b

4" CAM GEAR WASHER

FO832

4c

WEAR WASHER, 3.13" ID X 6.5" OD - UHMW

C0406

4d

SHEAR-TITE™ NUT, 7/8"-9 UNC

H1120

== N

LIFT BAG (64552 CONTI) (2B9-251 GOODYEAR)

CO080-CONTI

LOAD BAG, TRIPLE CONVOLUTE (161355 CONTI)

CO112-CONTI

AIR SPRING MOUNTING KIT

K0929

7a

HHCS, FLANGELOCK 3/8"-16UNC X 1" LONG

HO401

7b

SET SCREW, 3/8"-16 UNC X 3/4" LONG

HO400

7c

L'NUT, NYLOCK, 3/4"-16 UNF, GRADE 2 OR GR 5, SILVER ZINC

H1202

7d

L'NUT, SERRATED HEAD, 1/2"-13UNC ZINC PLATED

H1301

N [ = =

3

AIR LINE BRACKET

F1724

2

APPLICATION NOTE:

THIS SUSPENSION IS FOR LOCKED STEERING AXLE ONLY. IF THE STEERING AXLE IS USED, IT IS
THE RESPONSIBILITY OF THE CUSTOMER TO ACCOUNT FOR 3 TO 5 DEGREE CASTER ANGLE AT

THE AXLE DOWN RIDE HEIGHT AND THAT A STEERING DAMPNER KIT IS USED.

DCN# REV REVISION DESCRIPTION

DATE BY

CHK

APP

AAAAAAAAA .DWalkerer72017 TITLE:

CHK

CHECKED:

RELEASED:

9-11" RIDE HEIGHT

MATERIAL:

CUSH AUXILLARY I-BEAM AXLE
13K SUSP WEIGHT RATING

BOLT-ON RAIL HANGER

All of the Information shown
herein is the intellectual
property of Cush Corp and is
submitted only on a

TOLERANCE UNLESS OTHERWISE STATED:

www.cu

(n

Nixa, MO. USA
PHONE: 417-724-1239
shcorp.com

confidential basis. The
recipient agrees that no PROJECT NO:
disclosure of this information 3
will be made to a third party
without written consent of 1 7046 6
Cush Corp.

B-SIZE: 1/X
D-SIZE: 1/4

SCALE:
A-SIZE: NTS

REV: | DRAWING(PART) NO:

CX245is-A




